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PSYCHOLOGY
Paper III
Time Allowed : 2% Hours] [Maximum Marks : 150

Note :— This question paper contains seventy five (75) multiple choice questions.

Each question carries two (2) marks. Attempt all questions.

1. Deliberative application of known strategies to tasks, planning their use in
advance, monitoring them in action, evaluating their output and modifying

subsequent behaviour on the basis of performance is called :
(A) Cognitive Learning (B) Self-regulated Learning
(C) Implicit Learning (D) Premack Principle

2. A pathologist misread the tissue biopsies of 20 men, the doctors informed the
men that they did not have cancer, when in fact they had the disease. The
doctors error does illustrate that deciding whether we have detected a given
stimulus is not always easy and in inﬂuenc.ed by physical energy of the stimuli
and the relative cost and benefits associated with the detection. This can be

explained by :

(A) Theory of subliminal perception
(B) Ecological perspective on perception
(C) Signal detection theory

(D) Error in perception
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3. Read each of the following two statements Assertion (A) and Reason (R) and

indicate your answer using the codes given below :

Assertion (A) : Foot-in-the-door is used for compliance by making a

hierarchy of efforts.

Reason (R) : Compliance can be achieved by starting with a large request

and when it is refused, retreating to a smaller ones.
Codes :
(A) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not correct explanation of (A).
(C) (A) is true but (R) is false.
(D) (A) is false but (R) is true.
4. According to Tuvling, the three systems of memory are :
(A) Procedural, Semantic and Episodic
(B) Procedural, Semantic and Symbolic
(C) Working, Symbolic and Mnemonics

(D) Working, Episodic and Semantic

T.B.C. : 2V17/ETIII 4
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5. Out of the four factor rotation methods given below, which method/s is used

for second order factor analysis (orthogonal) ?
(@) Varima;r Rotation

(b) Quartimax Rotation

(¢) Oblimin Rotation

(d) Promax Rotation

Choose the correct option :

(.A) (¢) only (B) (@) and (b) only
(C) (a) and (d) only (D) (c) and (d) only
6. Sleep disorders can be categorised as :
(A) Insomnia and Hypersomnia (B) Paraphilias and Dysfunctions
(C) Parasomnia and Dyssomnia (D) Serotonergic and Dopaminergic
j 8 In the field of Psychopathology, ‘Lack of emotional responsiveness’ is
known as :
(A) Illusion (B) Hallucination
(C) Inappropriate Affect (D) Flat Affect

TB.C.: 2V/17/ET—III | 6
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8. Which of the following statements is not correct ?

(@) Weber’s law says that the magnitude of a sensation is a logarithmic
function of the stimuli.

(b) Stevens power law explains sensory magnitude grows in proportion to
the physical intensity of the stimulus revised to a power.

(¢) Just Noticiable Difference (JND) is the amount that must be charged
in order for a difference to be noticeable, defectable at least half the

time.
Choose the correct option :
(A) Only (a) (B) Both (a) and (b)
(C) Both (b) and (c) (D) Only (e)
9. In applied behaviour analysis :
(A) Punishment is often used to control behaviour
(B) Skills are broken down into their smallest steps and then reinforced
(C) The basic form of learning used in classical conditioning
(D) Use principle of trial-error learning
10. Humanistic approach to personality is characterised by :
(@) Emphasis on personal responsibility.
() No denial of importance of past but focus on present.
(¢) Considers naturally striving persons.

(d) Emphasises dimensions of individual differences.

Codes :
(A) (a) and (b) only (B) (¢) and (d) only
(C) (a), (b) and (¢) only (D) (&), (¢) and (d) only

T.B.C.: 21/17T/ET—III 8
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11. Read each of the following two statements Assertion (A) and Reason (R) and

indicate your answer using the codes given below :

Assertion (A) : An employee, who stitches réadymade company logo on

_ shirts and his work evaluated by other quality control

department, finds his job motivating.

Reason (R) : Job characteristic theory, narrates skill variety, task

identification and task significance are essential for finding

a job having motivation potentials.
Codes :
(A) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not correct explanation of (A).
(C) (A) is true but (R) is false.
(D) (A) is false but (R) is true.

12.  Which of the following are correctly matched ?

(@ GSR —  Skin Conductance
(b) Polygraph — Blood pressure

(¢) EEG —  Heart rate

(d) EOG — Eye movements

(A) (a), (b) and (c) only (B) (b), (¢) and (d) only
(C) (a), (b) and (d) only (D) (a), (B), (¢) and (d)

T.B.C. : 21/17/ET—III
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13. Read each of the following two statements Assertion (A) and Reason (R) and

indicate your answer using the codes given below :

Assertion (A) : In terms of Guilford’s SOI model, intelligence can be taken
as subset of creativity or equivalently creativity as subset

of intelligence.

Reason (R) : Creativity involves divergent production tHat is just one

of five operations of intellect.
Codes :
(A) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not correct explanation of (A).
(C) (A) is true but (R) is false.
(D) (A) is false but (R) is true.

14.  The evidence that baby monkeys with “Surrogate” mothers from birth preferred
to cling to a soft terry cloth “mother” instead of a wire mesh “mother” that

held a bottle supports :

(A) Ethological Theory of Attachment
(B) Drive Reduction Explanation

(C) Behaviouristic Account

(D) Psychoanalytic Theory

T.B.C. : 2V/1T/ET—III 12
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15.  If Piaget’s theory of cognitive development is critically evaluated, it appears

that he :

(A) Opverestimated infants and what they could do

(B) Underestimated infants and what they could do

(C) Was more accurate about adolescent cognitive development

(D)

Overestimated the role of culture u

16. What is Zone of Proximal Development ?

(A)
(B)
(8)

D)

The importance of continuity in development.
The difference between competence and performance.

The difference between what a child can do on its own and what
she/he can do with help of a more knowledgable partner.

b

The difference between child’s current development and the child’s

long-term development.

17. Read each of the following two statements Assertion (A) and Reason (R) and

indicate your answer using the codes given below :

Assertion (A) : Nativists argue for the fact that perceptual ability in innate

and we are designed to perceive the way we do.

Reason (R) : Alterations in the environment during sensitive periods

actually charge the way the brain grows and the corrections
that it makes.

Codes :

(A)
(B)
(&)
(D)

Both (A) and (R) are true, and (R) is the correct explanation of (A).
Both (A) and (R) are true, but (R) is not correct explanation of (A).
(A) is true but (R) is false.
(A) is false but (R) is true.

T.B.C. : 21/17/ET—III 14
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19.

20.

21.

............................................. is a dynamic mental structure that motivates,
organises, mediates, and regulates interpersonal and intrapersonal behaviours
and processes.

(A) Self-concept (B) Self-sentiment
(C) Self-schema (D) Self-esteem
b o PR s s thinker gathers information relevant to a problem

and then proceeds by reasoning to arrive at the one best solution. Generally
they solve problems with a singlé correct answer. ~

(A) Practical reasoning (B) Counterfactual thinking
(C) Convergent thinking (D) Conventional reasoning

The tendency to believe that more can be done in a given time than can
be actually accomplished is called :

(A) Information overload (B) Planned fallacy
(C) Overconfidence barrier (D) Magical thinking

Match List I with List IT and select the correct answer by choosing from codes
given below :

List I List II

(Authors) (Concepts)
(a) Millér () Three component memory system
() Atkinson (z1) Working memory
(¢) Bartlett (iii) Coding |
(d) Baddley (fv) Constructive memory
Codes :

(@) (®) (e) (d)

(A) (€773) @ . G (iv)
(B) (iir) (iv) (@) (@)
(C) (773) @) (iv) (if)
(D) (iv) (¥) (z2) (iv)

T.B.C. : 21/17/ET—III 16
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22. The b coefficient obtained in multiple regression is :

(A) Partial Correlation Coefficient
(B) Correlation Coefficient
(C) Regression Coefficient

(D) Partial Regression Coefficient

23.  Match List I with List II and select the correct answer by choosing from codes

given below :
List I
(Therapy)
(@) Gestalt Therapy
(b) Cognitive Behaviour Therapy
(¢) REBT

(d) Person-centred Thersa py

Codes :

(a) (b) (c)
(A) () (iii) (iv)
(B) ) (£ii) (@)
(C) (i) (i) @
(D) (iv) (i) @)

TB.C. : 21/17/ET—III _ 18
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(1) Rogers
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(iii) Beck
(iv) Ellis



I Wmﬁmbw .................................. %I

(D) o7ifSTd FHIZEY U : =
23. gt 1w gHt [ & Wy Gifea sifse aa freafafes 21 &1 w@m @ @@ sW

&1 =Y HIS
gt 1 | gt 11

(Fu=mr fafer)sidt) (=)
(@) Treree X @) g
(b) TIEIHS HATER ITAR @) b
() smIEE (i) %
(@) =IfFE-SfEd SR (w) U™
HE

(@) (b) (c) (d)

(A) (ii) (iir) (iv) (@)
(B) (i) (iif) (£) (iv)
(C) (#i1) (@) (D (iv)

(D) (iv) @@ (£) (iit)

T.B.C. : 21/17/ET—III 19 P.T.O.



24. Ethical code of conduct in psychological testing prohibit a psychologist to divulge
test record to third person, other than the individual tested. However such

record may be released when :

(A) Employer of test taker pressurize the psychologist
(B) Life of test taker is threatended by someone

(C) Mandated by law : S

(D) School staff need it without individual consent

25. Which of the following is one of the relationships proposed in expectancy
theory ?

(A) Reward-satisfaction relationship

(B) Satisfaction-performance relationship
(C) Rewards-person goals relationship
(D) Effort-satisfaction relationship

26. Which of the following techniques can be used to study activities in living

human brain ?
(@) Computerised Tomography
(b) Ablation and Leisoning

(¢) Stereotaxic Procedures

(d) FMRI

Codes :

(A) (a), (b) and (¢) only (B) (a), (b) and (d) only
(C) (a), (¢) and (d) only (D) (b), (¢) and (d) only

T.B.C.: 21/17/ETIII 20
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217.

28.

Match List I with List II and select the correct answer by choosing from codes

given below :
List I . List II
(Concepts) (Psychologists)
(@) Emotional energy for motivés (D) Schachter
(b) Cognitive appraisal of emotions (z1) Tomkins
(¢) Eight primary emotions (zii) Solomon

(d) Emotion a hedonistic motivation (jv) Plutchik

Codes :

(@) (b) (c) (@)
(A) (i1) (i) (iv) ((233)
(B) (i) (iv) (ii) @)
(C) (i2) @) (iii) (i)
D) | (iid) @ (i) (iv)

Projective Techniques particularly Inkblot Tests and Psychometric
Tests MEASULE ..cccvereeererssnssasmsosasens B s contexts of creativity

respectively.

(A) Meaning and Novelty (B) Novelty and Meaning

(C) Scientific and Artistic (D) Artistic and Scientific

T.B.C.: 21/17/ET—III 22
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(A) dar qgr TS

(C) I o Felcas

T.B.C.: 21/17/ET—III

(B) w&t=ar q«r yedfar

(D) HoHE qUl SJTaE

23 P.T.O.



29.

30.

31.

Which of the following in an example of negative reinforcement ?
(A) Losing your driving liscence because of got into too many accidents.
(B) Being “grounded” because of disobedience

(C) Obeying a parent before the parent reaches the count of “three” to avoid

getting scolded.
(D) Losing money by paying penalty for late filing of tax.

Like other two year olds Mannu say : “Mummy Milk” and “Papa gone”. These

two word phrases are examples of ... speech.
(A) Child-centered (B) Telegraphic
(C) Interpretive (D) Dual Code

Which of the following psychologists did not give importance of reinforcement

for learning ?
(A) Bandura (B) Guthrie

(C) Hull (D) Tolman

T.B.C. : 2V17/ET—III 24



29.

30.

31.

(B) EIEA 7 A F FWO T GET

frefafed 4 @ #F TFREE g #1 SR ¥ 2
(A) FEgd W AR F T D FRW TR AH GREW T GE A S
(C) sty & @ e § T8 3 +1 Uem #on afs 2k Q I
D) <0 ¥ FT 90 FA & ISEET I H THAA B

9 T 9 AG F Tl kI We & T wedl ¥ wEl gy Yama T A Q) s

areft FweEd fE wE w1 oAl Sga W ¥ 2

(A) ATTH-HI5a (B) gxifors

(C) foerromar= | (D) fgwz wha

Frefeafed waemf= § 4 fra afem § qreden @t wew 781 & @1 2
(A) =gy (B) T

(C) = (D) TTeH
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32. Flow theory suggests that learners are more likely to experience anxiety

when there is :
(A) High cballenge and high capability
(B) High challenge and low capability
(C) Low challenge and high ca.pability
(D) Low challenge and low capability
33. Achievement motivat%on is combinedly determined by :
(A) The expecta!:ion of success and the fear of failure -
(B) The blocking of behaviour and fear of failure
(C) The drive and approach gradient
(D) The innate mechanism and frustration

34. Which of the following statements regarding affect and perception is

incorrect ?

(A) Affect influences perception

(B) Perception influences affect

(C) Both perception and affect are independent of each other

(D) The role of affect on perception is an outcome of learning

T.B.C. : 21/17/ET—III 26



32. Wi fogra @ omER R § famrwa 1 afes weEw @@ A ¥ S

(A) ‘ma&a@‘ﬁm
(B) =9 @sd W = Aram
(@) ﬁwaaaqésam
D) fm= @gg @ = gaaw
33, Suefey afulRon dgF w9 ¥ ywifed @t ®
(A) maﬁmamﬁmmw
(B) FgeR 1 @AY TE fawemr &1 99
(C) ¥=rlg @ Wi| &
(D) SFESTG §F TS B
34, 9@ TE TEdERy e P wgd § B w9 W@ T € ?
(A) 9 e w yefad R ¥
(B) m&ﬁwmmaﬁwrfaam%
(©) m&ﬁwqamamﬁtaﬁ?ﬁ%
(D) weehwr § wa w1 g afom w R w ®
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356. Match List I with List II and select the correct answer by choosing from codes

given below :
List I
(Concepts)

(@) Night Terror

- (b) Resless Leg Syndrome

(¢) Nocturnal Leg Cramps

(d) Circadian Rythm Disorders

Codes :
@ ®)
@ G G
B) (i) 0
©  G) i)
1) NG (ii)

(e)
(i)
(if)
(iv)

(ii)

List II
(Description)
(z) Disturbance in sleep wake cycle
(@) Cramps in calf and foot muscles

(iit) Sensation in legs causing

movements and loss of sleep

(tv) Extreme fear and agitation

(d)
(@)
(iv)
(2)
(iv)

36. Which of the following are properties of human language ?

(@) Geners'ztivity

(zi) Displacement

(#ii) Hierarchical
(iv) Symbolic

(A) (@), @@2), Gv) only

(C) (i), (iv) only
T.B.C. : 21/17/ETIII
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(B) (ii), (iv) only
(D) (@), (i), (iv) only



35. w1 T 1 B e e A ae Frefafan w2 w0 AT w0 T SR

F IIF HifeA

gt 1
(TEa)
(@) T aI5®
(b) A AT T Hied
(¢) T & &1 TaA

(d) Tefega figg fasr

&e :

(@) (b)
(A) (iv) (222)
(B) (i) (@)

(C) @) (2i)
(D) @ (it

(e)
(z1)
(&)
(i)
(i)

et 10
(feraom)
() e-um 9% H sHauH
Gi) w6 qen uig wiwafeE d €A
i) = # waem fod i en e A
gfa Bt ©
(v) @fa w3 T AfSeEd

(d)
@)
(iv)
@
(iv)

36. fr= # ¥ @ fadmar gFE 9o &= o ¥ 2

@)  Seast

(i) feemaA

(iif) TETIHIHS

(iv) WiHfdaH

(A) Had 1), (@), (i)

(C) e (iid), (iv)
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37.

38.

39.

Which of the following explains the process through which we seek to
identify thé causes of other’s behaviour and so gain the knowledge of théir

stable traits and dispositions ?
(A) Deindividuation (B) Generativity
(C) Attribution A (D) Reciprocity

Which of the following plays an important role in transfer of information from

short-term memory to long-term memory ?

(A) Amygdala (B) Hippocampus

~(C) Thalamus (D) Hypothalamus

Read each of the following two statements Assertion (A) and Reason (R) and

indicate your answer using the codes given below :
Assertion (A) : Phonological loop involves auditory-verbal processing:

Reason (R) : Phonological loop depends on language-based processing

in left hemisphere of brain.
Codes :
(A) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not correct explanation of (A).
(C) (A) is true but (R) is false. |

(D) (A) is false but (R) is true.

T.B.C.: 21/17T/ETIII 30




37. Trefafega 4 | fog ofen & =ieam @ &9 T & @R & FRO & 9EA FH

T FW T 91 e fau @ o1 fer siw i 9 dafs fagaed & ar §
T | wE § 2

(8) erAfFRF (Deindividuation)  (B) SWHSiAl (Generativity) ‘
(C) STrm (D) ‘?R'F‘Tf’ﬁ?
38. mﬁﬂmwﬁm@mwﬁﬁwﬁw
gfsrr fasmar & 2
(A) UfFTEE (B) Feoibow
(C) g (D) ERUdATE

39. ™ @ =l sfmwas (A) 3R @& (R) # ofgn iR 9 fGu T =2 &1 3w
FH W@ I Sifeg

AR (A) :  FHETSEA o9 3 gafs-afas 9@ fafea 2 ¥

& (R) : nfiqss & S Tiend # we W WRiET WO BHesee
gu sl = &1

HT :

(A) (A) 3R ®) B F& ¥, AR (R), (A) & F& =A@ T
(B) (A) iR (R) 3F W&l §, 90g (R), (A) &1 W& =& 7 gl
(C) (A) W& % @ (R) o &)

M) (A) TEd T, W4 (R) 98 %
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40.

41.

Rollo May criticised Rogers for .......cc.cccevieeiiieaeennn. 5

(@) Overemphasis on the subjective side of human beings
(b) Assumption that people are inherently good and rational
() Self-actualization

(d) Q-sort method of assessment
Codes : |
(A) (a) and (b) are-correct; (¢) and (d) are incorrect
(B) (b) and (¢) are correct; (@) and (d) are incorrect
(C) (a) and (d) are correct; (b) and (¢) are incorrect
(D) (a) and (e¢) are correct; (b) and (d) are incorrect

Read each of the following two statements Assertion (A) and Reason (R) and

indicate your answer using the codes given below :

Assertion (A) : As compared to other methods of psychological research,
experimental method usually considered to be best shifted

for studying cause and effect relationship.

Reason (R) : Secondary variance does not occur in the experimental

" method.
Codes :
(A) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not correct explanation of (A).
(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.
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40. T & Y od =Y e SR W eTEre &

(@) ¥FE & AT Tee W AfUE SR
®) = fF meft safE el ® W IsY ad difed o

(c)

ST - ATETa [eh LT

(@) e W e

&he

(A)
(B)
(C)

(D)

(a) W& (b) TE; (c) T (d) T
() T (¢) TE; (@) W (d) o™
(@) T (d) TE; (b) TH (c) TTerd

(@) T8 (¢) & (b) T (d) o™

41, T A s sfirmdd (A) @R 9@ (R) =1 ufgn ol AR fRu g wd w ST
F@E WE W I :

aRTFEET (A) :  wETTE emEuE %1 o= fafum & germ 8 wErmer

fafer STHAR TR FEERY Gl & eAEd & fae ged 39
AT S €1

@& (R) : Wﬁfaﬁmmwﬁaﬁ-M|

o2

(A)

(B)

(C)

(D)

@A) R ®) 2 @ E @R ®), Q) T gE e

A) 3R (R) 2 =@ ¥, T (R), (A) Ft W@ = T g
(A) §& ¥ a1 (R) o @)

(A) TE@ ¥, T (R) W ¥
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42.

43.

44,

The two factors are said to be orthogonal, when the angle of separation between

the two factors is :

(A) 90 degree

(B) Between 0 to 75 degree - =

(C) Greater than 90 degree

(D) Greater than 60 degree and smaller than 75 degree

Who among the following wrote the book, ‘Biases in Mental Testing’ ?
(A) Cryl Burt (B) R.B. Cattell

(C) A. Jensen .(D) H.J. Eysenck

The managers of a multinational company are located in France, India,
Brazil and United States. Which decision-making technique seems most

reasonable for this organization ?
(A) Postal Service Interaction (B) Brainstorming Session

(C) Nominal Discussion (D) Electronic Meeting

T.B.C. : 21/17/ETIII 34



42.

43.

ﬁramﬁiaﬁaﬂeﬁmamm%‘,msﬂamﬁ%ahwm%:
(A) 90 feuit

B) 0 F o= 75 feift o=

(C) 90 feiit | eifus

M) 60 feit ¥ =1fus afers 75 feult | =9

‘Biases in Mental Testing’ 7H® s = # & e foal ot 2

(A) fra &2 (B) 2.t Hed

(C) & S (D) TS EAH
@WM@WW,W,WWW@Wﬁ%I.W
e # W fofz & ol awdE W St ¥ 2

(A) TF Tar g SR (B) s dvE

(C) =i ==t (D) ToER® do%
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45.

46.

According to Goleman “Management of Emotions” component of Emotional

Intelligence includes :

(@) Handling feelings so they are appropriate

(b) Ability to soothe oneself

(c) Ability to shake off rampant anxiety gloom or irritability

(d) Recognising feeling at it happens

Codes :
(A) (a), (b) and (c) only (B) (b), (¢) and (d) only
(C) (a), (¢) and (d) only (D) (@), (B), (¢) and (d)

Read each of the following two statements Assertion (A) and Reason (R) and

indicate your answer using the codes given below :

Assertion (A) : Vygotsky believed that children learn about the
world through their interaction with others in a cultural

setting.

Reason (R) : During preschool years children gradually shift from
private to social speech.

Codes :

(A) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not correct explanation of (A).
(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.
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45.

46.

e # AER gt gfg ® wam “garm amam” # fifeq ® 2
(@) wrE w1 SUgE G

() ST Y TG WA HI FrFa

() wEifa fa=m, serft @en fogfasmm 1 @ &3 = drga

(d) Y& F TR gA €I H GEEEA

ai? 3
(A) FI9 (), (b) T4 (c) (B) Fad (b), (¢) 741 (d)
(C) =ad (a), (c) 941 (d) D) (a), (B), (c) T (d)

fre B o SFTEEA (A) 3R 7% (R) | e ok 9 Ru g w2 W swEn
Fh e S g

afirEaT (A) ¢ aiewR #1 4 & o Tl gienfas - | 9= o= =fwE
¥ srafEm =@ wuiE e gw F@ ¥

@& (R) : faameragd ol # a=a ¥R-+R =fErm | Fmfss Sl 1w
e Tl

HE :

A) (A) 3R ®) 2 @ ¥, IR (R), (A) F W& =EA ¥
(B) (A) 3R (R) 21 @@ & W (R), (A) F &6 = & %
©€) M) @‘%W(R)W%l

D) (A) Te@ ¥, g (R) W& %I
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47.

48.

49.

Read each of the following two statements Assertion (A) and Reason (R) and

indicate your answer using the codes given below :

Assertion (A) : We can perceive a stimulus that is below the threshold

for conscious experience.

- Reason (R) : Stimuli sufficiently intense to be registered by the

sensory system but outside our conscious awareness are

processed by the brain.
Codes :
(A) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(B) Both (A) and (R) are tﬁe, but (R) is not correct explanation of (A).
(C) (A) is true but (R) is false.
(D) (A) is falsé but (R) is true.

Structure in the -brain that when damaged causes stop of eating behaviour

is called :
(A) Ventral Hypothalamus (B) Lateral Hypothalamus
(C) Ventral posterior nuclei (D) Leteral geniculate nuclei

Whorf has suggested that language determines the way people think and
that people with different languages think differently. This is called :

(A) Linguistic Differentiation (B) Linguistic Relativity

(C) Linguistic Dissonance (D) Linguistic Specificity
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49.

frm 2w SfEeE (A) 3R @ (R) Y dfe 3R = few ww wd w1 SwEm
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A) (A) 3R (R) 3 =& ¥, &R (R), (A) F ¥E =R T

B) (A) @R ®) I T € WY R), (A) Ft W =wEA T T
«nww%W®wﬁ{

D) (A) T ¥, T (R) ¥ &I

e 3 7w o R AR A B W G e R R A E, we
(A) IgA TENIAHH (B) TRTA FRIIATH

(C) Fzw UrAfeR =gEd (D) W@ SR =

aw#wgsm%fmm?ﬁ@mﬁmaﬂ#ﬁufﬁam%aﬂtm-m
T I W S-S ae @ dea €1 g% S SR ¥ e

(A) Yo faSEiETm (B) wreifaer Qroer

(C) vt fagnfa (D) st fafdreed
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50.  Match List I with List II and select the correct answer by choosing from codes

given below :

List I List II
(Concepts) (Explanation)
(@) Base rate problem (i)  Presentation of information
concerning potential

outcomes in terms of gains or

loser.

(6) Framing (Zi)  Probability of various events
is judged on the basis of how

readily they come to mind.

(¢) Available Heuristic (273 Peopie’s tendency to ignore
the relative frequency of
various events when making

decisions.

(d) Anchoring-Adjustment Heuristic (iv) Existing information is
accepted as a reference point
but then adjusted in light of

various factors.

Codes :

(a) (b) (c) (d)
(A) @) (i1) (zit) (iv)
(B) (i) (iif) (iv) (@)
(C) (iid) (1) (i2) (iv)
(D) (iv) (@) (@) (iit)
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51.

52.

Which one of the following is a form of social influence in which one person
simply orders to other person or persons to perform some activity and

they comply. ?

(@) Obedience | . -

(b) Compliance

(¢) Conformity

(A) Only (a) (B) Only (b)

(C) Only (a) and (b) (D) Only (b) a:md (e)

“A person provides help simply because victim needs help and because it
feels good to provide help.” This statement is an explanation of which of the

following ?

(A) Genetic determinism modél
(B) Empathic-Joy hypothesis
(C) Positive state relief model

(D) Empathy-Altruism hypothesis
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52.

frfafea § ¥ SHw g 396 &1 o @wg ¢ el & ==fa g5 ==

F frdt v foved 9 ST STUER & ARY @ 7 2

(@) ST

(b) I _
() STIETM

(A) %aa(a) (B) #ad (b)

(C) =ad (a) T4 (b) | (D) had (b) a ©

% =Af a8 qEE el #1 gema F o= 9 © R sExads S e

H B g8 FyA e § ¥ fruwt swem R § 2

(A) e frufor fage

(B) wuayfa-gd Ao

(C) THNHFH-axg Tea THg=<

(D) rAYfa-wgsiiar SAfaewedn
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53.

54.

Read each of the following two statements Assertion (A) and Reason (R) and

indicate your answer using the codes given below :
Assertion (A) : Memories are coded by modification of synaptic strength.

Reason (R) : Long-term potentiation is a major cellular mechanism

that underlies memory.
Codes :
(A) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but. (R) is not correct explanation of (A).
(C) (A) is true but (R) is false.
(D) (A) is false but (R) is true.

In a 3 x 3 factorial design with A and B as two factors, the sum of squares
for A is 24 and sum of squares for B is 32. The mean square of error is 7.
What would be the F ratio associated with the main effect of A and B

respectively ?
(A) 1.71 and 2.28 (B) 1.56 and 1.56

(C) 12 and 16 | (D) 8 and 10.66
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53.

i @ woA e (A) 3R @ (R) 1 ufegn ol AR fiw o FE w1 oswEm

FE Ga SW e
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A) (A) @R (R) 91 =& ¥, 3R (R), (A) F T e 2
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(C) (A) §& & 7= (R) T €
(D) (A) Tad B, g (R) W& ¥

TF 3 x 3 FF Afywed § A 701 B & & 81 A & fau 79 % @& 24
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(A) 1.71 91 2.28 (B) 1.56 a1 1.56

(C) 12 T 16 (D) 8 441 10.66
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55. Which of the following are symptoms of an Avoidant Type Personality Disorder

affected person ?

(@) Extremely suspecious of others

(b) Afraid of social relationship

(¢) Extremely vain and self-oriented

(d) Avoidance of social contacts

Choose the correct option :

(A) (a) and (d) only
(C) (a), (b) and (c) only

(B) (b) and (c) only
(D) (a), (b), (¢) and (d)

56. Match List I with List IT and select the correct answer by choosing from codes

given below :

List 1

(Theories)

(@ X and Y Theory

(b) Hygiene Factor

(¢) ERG Theory

(d) Z Theory
Codes :

(a)
(A) (i)
(B) (ii)
(C) (z21)
(D) (iv)

T.B.C.: 21/17T/ET—III

(d)
(iii)
(i)
@
(i)

(c)
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(@)
b
@
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List II
(Author/Theorists)
(i) Herzberg
(i) Alderfer
(zii) McGregor
(iv) William Ounchi

(@)
(@)
(iv)
(iv)

(£2t)
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57. Read each of the following two statements Assertion (A) and Reason (R) and

indicate your answer using the codes given below :

Assertion (A) :  According to Rogers, the ideal condition for the development

of healthy self-concept and for becoming fully functioning

person is unconditional regard.

Reason (R) : Unconditional positive regard results into incongruence

between true self and ekperience
Codes :
(A) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not cbrrect explanation of (A).
(C) (A) is true but (R) is false.
(D) (}-\) is false but (R) is true.

58. If a manager gives Rashmi a positive appraisal on her first evaluation as
an employee because he thought that sfxe had been a ‘top notch’ performer

in her job interview, he may be making an error based on :
(A) Halo Effect (B) Attributional Errors

(C) Leniency Errors . (D) Self-Serving Bias
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o7.

58.

ﬁmammm(mam#(mﬁmamﬁﬁqma@mm

FH W SW T

AFfHTT (A) : U5 & IER WY -Te: fawm qan goi-safa a9
% foau ‘fom-vd-amet’ o mm%.

T (R) : famr-od W SRR W o T wa B #w Srged

IG FHE T
HE
(A) (A) 3R (R) 3 wé ¥, 3R (R), (A) = @ =ar=wm ¥
(B)’ (A) IR (R) 3 & ¥, g (R), (A) = ¥& =mem 74 ¥
(C) (A) @@ § a0 (R) 7o )
(D) (A) Te@ ¥, W (R) W ¥

IR HE FUF WH H FHAN D T F 9 TS GHEET W T GEAF
oA 31 € ik 39 Wl % 9 oo A & wemer d v wreew’
froaeeral @ R A oaw e A R Fdt we wmow ¥ 2

(A) T 9= (B) s Ffeaf

(C) 3’ran Ffeat (D) W4 Ja1 gaine
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59.

60.

61.

Watson was able to demonstrate that an emotional disorder called
.............................. could be learned through ..............cceecen...... by €xposing a child

to a white rat and a loud noise together.
(A) anxiety, classi(;al conditioning

(B) anxiety, observational learning -

(C) phobia, classical conditioning

(D) phobia, observational learning

Underlying motive for tendency to perform par excellence is :

(A) Power motive (B) Affiliative motive

(C) Achievement motive (D) Motive to achieve success
Myelin stains and Nissl stains identify .......ccoooeinncicnninnns and . nniaannnisiei
respectively.

(@) Neural pathways
(b) White matter

(¢) Neural cell bodies

(d) Nuclei

Codes :

(A) (a) and (b) only (B) (a) and (c¢) only
(C) (b) and (e) only (D) (b) and (d) only
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59. m%mﬁﬁm@ﬁ;@mmm ................................. Fa

ME1 A YR T WA wA e s R
(A) fa=m, T=ig sgeeA
(B) fa=n, fdteity sifimm . .
(C) ¥4 (phobia), YT T+
(D) 949 (phobia), Fit&via sifarm
60. watemm freaed wafv +1 srafifes s wrman & 2

(4) wW I& (B) w=reA W
(C) 3wafsy W (D) TheAE E
61. m@"ﬂﬂmﬁ'ﬂaéﬂaﬁ ................................. Y e raens E'itr

(A) HIH (a) T (B) (B) #Fad (a) 941 (¢)

(C) =ad (b) A (¢) (D) Had (b) T (d)
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62.

63.

64.

Who used the term ‘Creatively Handicaped’ ?

(A) Guilford (B) Yamamato

(C) Torrance (D) Getzels

One of the way mothers can improve the likelihood of secure attachment in
their children in to respond to their needs appropriately. Another name for

his communication which mothers and children match emotional states is

called :
(A) Emotional matching (B) Goodness of fit
(C) Interactional synchrony (D) International communication

If the counsellor wants to identify the student’s implicit interest, desire, feeling

and prejudices, which test he should use :
(A) Aptitude Tests (B) Interest Inventories

(C) Projective Tests (D) Achievement Tests
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62.

63.

‘geerE famarar’ v w1 IwEn wawew fewa fea 2
(A) T (B) A

(C) 2= (D) H=&

Iedl &I STEvIE@S & Ufa I9gE WA wH TH W HUA sr=dl H g ame

I WEA SO FT GHG 71 T g B A9 39 GEHE F TR TR 1 FE

ST HFA T ?
(A) FamEH gHeH (B) WHH gyl
(C) oTfeharcH® HHHTAA (D) FBEHEY FHEU

afg wEsfarn @1 faenfi & swafifea fed, sooed, wamsl & qEiEl #1 weeE

FE A WD W IR T gE H A wifeg ?

(A) Sfyemer odiem | (B) =fyefa gdtemmmen

(C) W& Trem (D) 3uafsg qiteqor
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65. Which of the following explain the fact that people differ in the ways that

they process sensory inputs to give rise to what fhey experience ?
(1) Person’s expectation

(z1) Motivation.

(1i1) Perceptual learning

(iv) Perceptual constancy

(A) (@), (), (@) B) @), @), (v)

(C) (@), Gur), Gu) D) @), (@), ()

66. One of the measure to understand the connotative meanings of words and

concepts is :

(A) Metalinguistic Awareness Scale

(B) Semantic Differential

(C) Word-Referent Association Scale

(D) Analytical Language Processing
67. An ANOVA table summarizes :

(@) Sum of Squares

(b) Sources of Variance

(¢) Mean Square

(d) Degree of Freedom

Choose the correct option :

(A) (a) and (b) (B) (a), (c) and (d)

(C) (a), (b), (¢) and (d) (D) (b), (¢) and (d)
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65. Todl oRfeafs & swa @ & 98 wafuya 9o guaell & odfdn § safes
fafirand 2t €1 39 9 w1 = § @SS =afere s@ § 2

(i) SAfRw g

@) @fTon

(i) TeATeTe afqu

(iv) weafys @ . ’
(A) @), Go), (i) (B) @), G, Gv)
(©C) (), (i), (iv) @) @), (i), (v)

66. Vsl qYUl HEE & vEgas Jd9f ®@ = A ¥ fF9 amd s gema 9 wwen
S gEA § 2

(A) Hfefafes Srrehar ATt
B) faiifes femifame
(C) w=-ueffa |re=wd |9t
(D) Taversomeres wron GrafE
67. ANOVA & 9ot § Twes foar s #
(@) TH 3AH TEAER
(b) T ® W
(c) W= WA
(@) T@dAM FH HIL
Wt faweq &1 @ weg
(A) (a) 991 (b) (B) (a), (c) 991 (d)

(C) (@), B), (c) A1 (d) (D) (®B), (c) T (d)
T.B.C. : 21/17/ET—III 55 P.T.O.



68. Which of the following disorders is different from others ?
(A) Bipolar Mood Disorder (B) Hypochondriases
(C) Dysthemia (D) Major Depression

69. Match List I with List IT and select the correct answer by choosing from codes

given below :
List I List 1II
(Concepts) (Tests)
(@) Lambda (@ CPI
() Abasement @) ZKPQ
(¢) Structural scales (iii) Rorschach Inkblot Test

(d) Impulsive sensation seeking  (iv) TAT
Codes :
@ (®) © (d)
@ O (if) (iid) (iv)
B @ @) (iv) (1)
© (i) (iv) ) (ii)
O ) (iid) (id) @)
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68. fr= # § = foFR g&d | o ¥ ?

(A) feyda =@k fawr

(C) s

(B) wRUmERiTead

(D) TSR AT9R]

69. Tt I % g II % o gafem wfee au frafafea #2 &1 997 F16 @E IW

H HIH HiEA

et 1
(Fw=a)

(a)

()

(e)

(d) Twfaa FReT difw

®e

(A)

(B)

(C)

D)

T.B.C.: 21/17/ET—IIIL
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LCRUE

(@)

()

@)

(i)

()

GEARHS  HI9A]

(%)

(it)

(@)

(iv)

(@ii)

(e)

()

()

@

(i)

gt 11
(wdigrom)

G) e

@) B A

i) vl R s Gl

(v) JATA.

(d)
(i)
(iit)
@)
@)
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70.

71.

Who among the following believed that schizophrenia is a constructive
process in which people try to cure themselves of the confusion and

unhappiness caused by their social and family environment ?
(A) Emil Kraeplin (B) Peter Lewinshon
(C) R.D. Laing ' (D) Frieda Fromm Reichmann

Read each of the following two statements Assertion (A) and Reason (R) and

indicate your answer using the codes given below :

Assertion (A) : In conformatory factor analysis, the purpose is to confirm
that test scores and variables fit a certain pattern predicted

by a theory.

Reason (R) : Factor analysis summarize the interrelationships among
a large number of variables in a concise and accurate

manner as an aid in conceptualization.
Codes :
(A) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not correct explanation of (A).
(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.
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70. fm= # § fegs 9w 1 fe wHifagem & @oes gwe ¢ foed am s
s o1 aifEnfis ey gr1 So9= 3o aun el F 3iF wE F I

Ex % 2
(A) e Bufea , (B) tex afgsd
(C) IR o . (D) wrEr wE e

71. = @ woAl aifwmed (A) ¥R % (R) #1 ufeq iR R few T w2 w1 sudm
FH WE IW AT

ARTHTT (A) @ T wReE favesw § v 9% wifvd R el ¥
e Y ad1 R UE e g wgea uw fAfvea wfeas
# fire B

® (R) : HRE 90T Gheddl # Heddl & ®9 3 TH gfew iR
Tow ais 4§ ofus gem # w0 & 99 gl S grifid

EXG I

(A) (A) 3R (R) S Wl &, 3R (R), (A) Ft 98l =& ®)
(B) (A) 3R (R) aF u& 2, &g (R), (A) &1 W& =& T&l 2|
(C) (A) W& & a9 (R) 7T&d €|

D) (A) Te@ & 9 (R) @ B
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72.

73.

Emotional tone in voice is called :
(A) Prosoby (B) Sham Rage
(C) Subordinate stress (D) Cheese effect

Read each of the following two statements Assertion (A) and Reason (R) and

indicate your answer using the codes given below :

Assertion (A) : Motives are always active but the manifestation of a specific

motive is the function of its intensity at a particular time.

Reason (R) : Motivation is a continuous process though motives come

to play only in successive hierarchical order.

Codes :

" (A) Both (A) and (R) are true, and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not correct explanation of (A).

(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.
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72. @t § HAME G FHE ©
(A) Y&t (Prosoby) (B) ¥M W (Sham Rage)
(C) srdey gfaea (D) =S g9

73. ﬁwamﬁwﬁmﬂ?(maﬁ?aﬁ.(maﬁv@qaﬂtﬁﬁqwaﬁmw

B WE W e

Afrwaa (A) : Fufy sl e OfF e % v frelt T sifiis =t

B S S QR IT CH Qi SNR o ME G )

@& (R) : Fafy ARTRT ww waq ufEa § e fafim afiins s

F9 H JE ARHE FW ¥
HE
(A) (A) 3R R) T FR T, 3R (R), (A) Ft F& == R
(B) (A) 3R (R) ¥ W& § T (R), (A) i W& =en 7 &
(C) (A) ¥& § a1 (R) o ¥

(D) (A) Te@ ®, W (R) & R
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74. Match List I with List IT and select the correct answer by choosing from codes

(b)
(z2)
@)
(iv)

(zit)

List 1I
.(i) Latent learning
(i) Social learning
(ziz) Radical Behaviourism

(fv) Hypothetics-Deductive

() (d)
(@) @iv)
(iv) (iii5
(#i1) ()
(iv) @

75. Match List I with List IT and select the correct answer by choosing from codes

given below :

List 1
(@) Bandura
(b) Tolman
() Hull
(d) Skinner
Codes :

(a)
(A) (1)
(B) (i)
(C) (i)
(D) (i1)
given below :

List I

(Authors)

(@) Cattell
(b) Sternberg
(¢) Jensen
(d) Goleman
Codes :

(a)
(A) (@)
(B) (i)
(©) (i)
(D) (iv)

T.B.C. : 21/17/ETIII

(b)
(it)
(i)
(2v)
(iit)

- List II
(Concepts)
(i) Knowing one’s emotions
(i) Investment Hypothesis
(iii) Assortative Mating

(iv) Successful Intelligence

(c) (d)

(iii) (iv)

(i) ()

(iii) @

(673) @)
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74. G 1 H G I ® g gafea wifae au Prafafes w2 1 960 #5998 W

& FI Hifed

gt I T 11
(@) =UET @) g Al
(b) ZaHa () wrfse sty
() & (fii) U HFERdR
(@) f=x - (fv) SRS -FrHaTES
&He

(@) () (c) (d)
(A) (z2i) @) (&) (iv)
(B) (€79) @) (i) (zir)
(C) (i) (iv) (ziD) ()
D) (zr) (zi2) (iv) (@)
75. g I % G II % WY gafea s aw FEfafaa w2 &1 5Ebm s 98 SW

H FIA Hifed :

gt 1 gt 11

(@) (Hge)
(@ @A () I & GIAT B Al
(b) T (i) FEw aﬁw
(¢) SFEA @) eraefea afén
(d) TeE (iv) 9% G
&

(@) () (e) (d)

(A) (@) (i) (ii2) (iv)
(B) (ier) (iv) (iz) @)
(C) (i) (iv) (iit) (@)
(D) (iv) (zi1) @) (@)
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